## VARIATION IN PARAMETERS OF A QUADRATIC FRACTIONAL FUNCTIONALS PROGRAMMING

S.P. AGGARWAL \* The University of Calgary (Canada).

#### Introduction.

In practical situations, such as the chicken feed problem, the cost of any individual feed will vary from week to week, similar situations may arise for other elements of the problem. In this paper the resulting affects on an optimal solution of arbitrary variation of any coefficient of a quadratic fractional functional programming are analysed. If the optimal solution of the original problem is known [1], we study the possibility of any method which helps us to solve the new problem which is obtained by varying the parameters in the original problem. In actual existing problems the parameters  $a_{ij}$ ,  $b_i$ ,  $c_j$  and  $d_j$  are either estimates or they vary over the time. Work in this and related area has been done by Shetty [10], Courtillot [4], Garvin [5], Madansky [8], Wagner [12], Saaty [9], Aggarwal [2] and Swarup [11].

Mathematical Model:

Maximize 
$$Z = \frac{(\sum_{j=1}^{n} c_j x_j + \alpha)^2}{(\sum_{j=1}^{n} d_j x_j + \beta)^2} = \frac{(c' \chi + \alpha)^2}{(d' \chi + \beta)^2}$$
 (0.1)

subject to

 $\sum_{j=1}^{n} a_{ij} x_{j} = b_{i} \quad \text{or} \quad A_{\chi} = b \quad i = 1, 2, ..., m \quad (0.2)$ 

 $x_j \ge 0$  or  $\chi \ge 0$  j = 1, 2, ..., n (0.3)

\* The research for this article has been financially supported by National Research Council of Canada under Grant No. 69-0027.

If we write

$$P_{0} = \begin{bmatrix} b_{1} \\ b_{2} \\ \vdots \\ b_{m} \end{bmatrix} \quad \text{and} \quad P_{j} = \begin{bmatrix} a_{1j} \\ a_{2j} \\ \vdots \\ a_{mj} \end{bmatrix}.$$

then (0.2) may be written as

$$x_1 P_1 + x_2 P_2 + \dots + x_n P_n = P_0$$
 (0.4)

It is assumed that

(i) The set S of feasible solutions is regular.

(ii)  $d'_{\chi} + \beta$  is positive for all feasible solutions.

(iii) Every basic feasible solution is non-degenerate.

(iv) S contains at least two different points.

(v)  $\alpha$  and  $\beta$  are given constants.

(vi)  $a_{ij}$ ,  $b_i$ ,  $c_j$  and  $d_j$  are parameters.

Also

(a) A is  $m \times n$  matrix, n > m.

(b)  $\chi$ , c, d are  $n \times 1$  vectors.

(c) b is  $m \times 1$  vector.

(d) prime denotes the transpose of a vector.

Let  $\chi^{'0} = (x_1^0, x_2^0, \dots, x_m, 0, \dots, 0)$  be the optimum solution of the original probleb (0.1) through (0.3) when  $a_{ij}$ ,  $b_i$ ,  $c_j$  and  $d_j$  are constants and let the optimal basis corresponding to the above optimum solution be  $P_1$ ,  $P_2$ , ...,  $P_m$ .

.. We have

$$\sum_{i=1}^{m} P_i x^0_i = P_0$$
(0.5)  
$$x^0_i > 0 \qquad (i = 1, 2, ..., m)$$

As the vectors P1, P2, ..., Pm are linearly independent

: 
$$P_j = \sum_{i=1}^m u_{ij} P_i$$
  $(j = 1, 2, ..., n)$  (0.6)

We define the quantities [1]

$$z_{j}^{(1)} = \sum_{i=1}^{m} u_{ij} c_{i} \qquad (j = 1, 2, ..., n)$$

$$z_{j}^{(2)} = \sum_{i=1}^{m} u_{ij} d_{i} \qquad (j = 1, 2, ..., n)$$

$$T_{1} = \sum_{j=1}^{m} c_{j} x^{0}_{j} + \alpha$$

$$T_{2} = \sum_{j=1}^{m} d_{j} x^{0}_{j} + \beta$$

$$\xi_{j} = \frac{x^{0}r}{u_{rj}}$$

and  $x'_0$  is an optimal solution [1] of the given problem (0.1) through (0.3) if

$$t_{j} = [T_{2}(c_{j} - z_{j}^{(1)}) - T_{1}(d_{j} - z_{j}^{(2)})]$$

$$\times [\xi_{j} \{T_{2}(c_{j} - z_{j}^{(1)} + T_{1}(d_{j} - z_{j}^{(2)})\} + 2T_{1}T_{2}] \leq 0$$
for all j
$$[T_{2}(c_{j} - z_{j}^{(1)}) - T_{1}(d_{j} - z_{j}^{(2)})]$$

ог

$$[\hat{x}_{2}(r_{j} - z_{j}) + T_{1}(r_{j} - z_{j})] + 2 T_{1} T_{2}] \leq 0$$

$$[\hat{x}_{j} \{T_{2}(r_{j} - z_{j}) + T_{1}(d_{j} - z_{j})\} + 2 T_{1} T_{2}] \leq 0$$
for all j

## Change in the Requirement Vector $\mathbf{P}_0$ .

We shall now consider the new problem.

Maximize 
$$Z = \frac{(\sum_{j=1}^{n} c_j x_j + \alpha)^2}{(\sum_{j=1}^{n} d_j x_j + \beta)^2}$$
 (1.1)

subject to

 $P_1 x_1 + P_2 x_2 + ... + P_n x_n = P_0 + \epsilon$  (1.2)

 $x_{j} \ge 0$  (j = 1, 2, ..., n) (1.3)

Here the requirement vector  $P_0$  is changed to  $P_0 + \varepsilon$ , where  $\varepsilon' = (\varepsilon_1, \varepsilon_2, ..., \varepsilon_m)$ . Let B be the square matrix whose column vectors are

 $P_{1}\,,\,P_{2}\,,\,...,\,P_{m-1}\,,$  and  $P_{m}\,,$  further let  $B^{-1}$  be the inverse of the matrix B.Suppose  $\beta_i$  (*i* = 1, 2, ..., m) be the *i*th row vector of B<sup>-1</sup> i.e.

$$B^{-1} = \begin{bmatrix} \beta_1 \\ \beta_2 \\ \vdots \\ \beta_m \end{bmatrix}$$
  
We have  $\varepsilon = BB^{-1} \varepsilon = (P_1, P_2, ..., P_m) \begin{bmatrix} \beta_1 & \varepsilon \\ \beta_2 & \varepsilon \\ \vdots \\ \beta_m & \varepsilon \end{bmatrix} = \sum_{i=1}^m \beta_i \varepsilon P_i \quad (1.4)$ 

Making use of (0.5) in (1.4) we get

$$P_0 + \varepsilon = \sum_{i=1}^m P_i x^0_i + \varepsilon = \sum_{i=1}^m P_i x^0_i + \sum_{i=1}^m \beta_i \varepsilon P_i = \sum_{i=1}^m (x^0_i + \beta_i \varepsilon) P_i$$

The change in P<sub>0</sub> affects the values of the basic variables in the optimal solution and we must consider the following two cases

 $x^{0}_{i} + \beta_{i} \varepsilon \ge 0$  (*i* = 1, 2, ..., *m*) at least one  $x^{0}_{i} + \beta_{i} \varepsilon$  is negative. (1) (2)

 $\overline{Z}$  the value of the new objective function is given by

$$\overline{Z} = \frac{\left[\sum_{i=1}^{m} c_i \left(x^{0}_i + \beta_i \varepsilon\right) + \alpha\right]^2}{\left[\sum_{i=1}^{m} d_i \left(x^{0}_i + \beta_i \varepsilon\right) + \beta\right]^2} = \frac{\left[T_1 + \sum_{i=1}^{m} c_i \beta_i \varepsilon\right]^2}{\left[T_2 + \sum_{i=1}^{m} d_i \beta_i \varepsilon\right]^2} = \frac{\overline{T_1}^2}{\overline{T_2}^2}$$

where

$$ar{\mathrm{T}}_{\mathrm{I}} \,=\, \mathrm{T}_{\mathrm{I}} \,+\, \sum\limits_{\mathrm{i=1}}^{\mathrm{m}}\, \mathrm{c}_{\mathrm{i}}\, eta_{\mathrm{i}}\, arepsilon$$
 $ar{\mathrm{T}}_{\mathrm{2}} \,=\, \mathrm{T}_{\mathrm{2}} \,+\, \sum\limits_{\mathrm{i=1}}^{\mathrm{m}}\, d_{\mathrm{i}}\, eta_{\mathrm{i}}\, arepsilon$ 

It may be observed that  $z_j{}^{(1)} - c_j$  and  $z_j{}^{(2)} - d_j$  remain unaffected by the variation in Po.

Now  $\mathcal{I}_j$  for the new problem is as

$$egin{aligned} &\mathcal{I}_{\mathrm{j}}\ =\ \overline{[\mathrm{T}}_{\mathrm{z}}\left(c_{\mathrm{j}}\ -\ z_{\mathrm{j}}{}^{(1)}
ight)\ -\ \overline{\mathrm{T}}_{\mathrm{z}}\left(d_{\mathrm{j}}\ -\ z_{\mathrm{j}}{}^{(2)}
ight)] \ & imes\ [\xi_{\mathrm{j}}\ \overline{(\mathrm{T}}_{\mathrm{z}}\left(c_{\mathrm{j}}\ -\ z_{\mathrm{j}}{}^{(1)}
ight)\ +\ \overline{\mathrm{T}}_{\mathrm{z}}\left(d_{\mathrm{j}}\ -\ z_{\mathrm{j}}{}^{(2)}
ight)\}\ +\ 2\ \overline{\mathrm{T}}_{\mathrm{z}}\overline{\mathrm{T}}_{\mathrm{z}}] \end{aligned}$$

Case (1)  $P_1$ ,  $P_2$ , ...,  $P_m$  is a feasible basis and it will be an optimal basis provided

 $7_{\rm j}~\leqslant~0$ 

If all  $7_j$  are not less than or equal to zero, we may start with this new feasible solution and with the help of the method [1] we an get an optimum solution.

Case (2) (P<sub>1</sub>, P<sub>2</sub>, ..., P<sub>m</sub>) is not a feasible solution of the new problem. By making certain modifications it is possible to obtain the optimal solution of the new problem. Let  $x^0_{i_k} + \beta_{i_k} \varepsilon$  ( $i_k = 1, 2, ..., l$ ) be all negative ones among  $x^0_i + \beta_i \varepsilon$  (i = 1, 2, ..., m).

We now consider the following modified problem

$$\sum_{j=1}^{n} c_{j} x_{j} - M \sum_{i_{k}=1}^{t} y_{i_{k}} + \alpha]^{2}$$

Maximize ——

· • j

$$[\sum_{j=1} d_j x_j + \beta]^2$$

subject to

$$\sum_{i=1}^{n} P_{j} x_{j} + \sum_{i_{k}=1}^{l} (-P_{i_{k}}) y_{i_{k}} = P_{0} + \varepsilon$$

$$x_{j} \ge 0 \qquad (j = 1, 2, ..., n)$$

$$y_{i_{k}} \ge 0 \qquad (i_{k} = 1, 2, ..., l)$$

 $y_{i_k}$  is the set of variables  $i_k = 1, 2, ..., l$ .

M is very large positive quantity.

The optimum solution of the problem (1.1) through (1.3) coincides with the optimum solution of the modified problem. This is established below.

After introducing the new vector —  $P_{i_k}$  ( $i_k = 1, 2, ..., l$ ) the following relation is satisfied

$$\sum_{i=1}^{m} P_{i} (x^{0}_{i} + \beta_{i} \varepsilon) + \sum_{i_{k}=1}^{l} (-P_{i_{k}}) (-x^{0}_{i_{k}} - \beta_{i_{k}} \varepsilon) = P_{0} + \varepsilon$$

$$i \neq i_{k} \qquad (i = 1, 2, ..., l)$$

$$x^{0}_{i} + \beta_{i} \varepsilon \ge 0 \qquad i \neq i_{k} \qquad (i = 1, 2, ..., m)$$

$$-x^{0}_{i_{k}} - \beta_{i_{k}} \varepsilon \ge 0 \qquad (i_{k} = 1, 2, ..., l)$$

This means that

$$\begin{aligned} x_{i} &= \delta_{i} (x^{0}_{i} + \beta_{i} \epsilon) \\ x_{j} &= 0 \qquad (j = m + 1, ..., n) \\ \delta_{i} &= \begin{cases} 1 & i \neq i_{k} (i = 1, 2, ..., m) \\ -1 & i = i_{k} (i_{k} = 1, 2, ..., l) \end{cases} \end{aligned}$$

is a feasible solution of the modified problem. New we can use the method [1] to find the optimal solution.

# Change in the Coefficient Matrix A.

We consider the case where only one column vector  $P_{\rm s}$  is changed to  $\overline{P}_{\rm s}$  and the matrix A is

$$\overline{A} = (P_1, P_2, ..., P_{s-1}, \overline{P}_s, ..., P_n)$$

and the new problem is

Maximize 
$$\frac{(\sum_{j=1}^{n} c_{j} x_{j} + \alpha)^{2}}{(\sum_{j=1}^{n} d_{j} x_{j} + \beta)^{2}}$$
(2.1)

subject to

or

$$\sum_{\substack{j=1\\ j\neq s}}^{n} P_j x_j + P_s x_s = P_0$$
(2.2)

$$x_j \ge 0$$
  $j = 1, 2, ..., n$  (2.3)

Again we assume  $x^{0}$  to be an optimal solution of the problem (0.1) through (0.3), and corresponding optimal basis is B. Here also we shall discuss the problem in two parts.

## (1) $P_s \in B$ (2) $P \notin B$

(2) 
$$P_s \notin B$$
.

Case (1). Since  $P_1$ ,  $P_2$ , ...,  $P_m$  are linearly independent, we may write [2]

$$P_{s} - P_{s} = \delta_{1s} P_{1} + \delta_{2s} P_{2} + \delta_{ss} P_{s} + ... + \delta_{ms} P_{m}$$

$$\begin{split} P_{\rm s} &= \delta_{\rm 1s} \, P_{\rm 1} + \, \delta_{\rm 2s} \, P_{\rm 2} + \, ... \, + \, (1 + \, \delta_{\rm ss}) \, P_{\rm s} \, + \, ... \, + \, \delta_{\rm ms} \, P_{\rm m} \\ & (1 \, + \, \delta_{\rm ss} \neq 0) \end{split} \label{eq:Ps}$$

8

and

Our aim is to find the conditions which  $\delta_{1s}$  must satisfy so that optimal basis for the new problem remains  $P_1$ ,  $P_2$ , ...,  $\overline{P}_s$ , ...  $P_m$ . As  $P_1$ ,  $P_2$ , ...,  $\overline{P}_s$ , ...,  $P_m$  are linearly independent, therefore using (0.5) in (2.4) we get [3]

$$P_{0} = P_{1} \left( x_{1}^{0} - \frac{x_{s}^{0} \delta_{1s}}{1 + \delta_{ss}} \right) + P_{2} \left( x_{2}^{0} - \frac{x_{s}^{0} \delta_{2s}}{1 + \delta_{ss}} \right) + \dots + \overline{P}_{s} \left( \frac{x_{s}^{0}}{1 + \delta_{ss}} \right) + \dots + P_{m} \left( x_{m}^{0} - \frac{x_{s}^{0} \delta_{ms}}{1 + \delta_{ss}} \right)$$

For the new basis to be feasible, we require

$$x_{i} = \frac{x_{s}^{0} \delta_{is}}{1 + \delta_{ss}} \ge 0 \qquad i \ge s \qquad (2.5)$$

$$\frac{x^0{}_{\rm s}}{1+\delta_{\rm ss}} \ge 0 \tag{2.6}$$

As  $x_{s}^{0} > 0$ , therefore,  $1 + \delta_{ss} > 0$ 

Using (0.6) and (2.4) in this new problem we get

 $P_{j} \,=\, \overline{\textit{u}}_{1\,j}\,P_{1} \,+\, \overline{\textit{u}}_{2\,j}\,P_{2} \,+\, ... \,+\, \overline{\textit{u}}_{s\,j}\,P_{s} \,+\, ... \,+\, \overline{\textit{u}}_{m\,j}\,P_{m}$ 

where  $\overline{u}_{ij} = u_{ij} - \frac{\delta_{is} u_{sj}}{1 + \delta_{ss}}$ 

$$\begin{split} \bar{z}_{j}^{(1)} &= z_{j}^{(1)} - \frac{u_{sj}}{1 + \delta_{ss}} \sum_{i=1}^{m} c_{i} \, \delta_{is} \\ \bar{z}_{j}^{(2)} &= z_{j}^{(2)} - \frac{u_{sj}}{1 + \delta_{ss}} \sum_{i=1}^{m} d_{i} \, \delta_{is} \\ \overline{T}_{1} &= T_{1} - \frac{x^{0}_{s}}{1 + \delta_{ss}} \sum_{i=1}^{m} c_{i} \, \delta_{is} \\ \overline{T}_{2} &= T_{2} - \frac{x^{0}_{s}}{1 + \delta_{ss}} \sum_{i=1}^{m} d_{i} \, \delta_{is} \end{split}$$

The new basis is optimal if

$$\begin{aligned} t_{j} &= [\overline{T}_{2} (c_{j} - \overline{z}_{j}^{(1)}) - \overline{T}_{1} (d_{j} - \overline{z}_{j}^{(2)})] \\ &\times [\delta_{j} \{\overline{T}_{2} (c_{j} - \overline{z}_{j}^{(1)}) + \overline{T}_{1} (d_{j} - \overline{z}_{j}^{(2)})\} + 2\overline{T}_{1}\overline{T}_{2}] \leq 0 \end{aligned} (2.8)$$

9

(2.7)

$$= \left[ \left( T_2 - \frac{x^0_s}{1 + \delta_{ss}} \sum_{i=1}^m d_i \, \delta_{is} \right) \, \left( c_i - z_i^{(1)} + \frac{u_{sj}}{1 + \delta_{ss}} \sum_{i=1}^m c_i \, \delta_{is} \right) \\ - \left( T_1 - \frac{x^0_s}{1 + \delta_{ss}} \sum_{i=1}^m c_i \, \delta_{is} \right) \, \left( d_j - z_j^{(2)} + \frac{u_{sj}}{1 + \delta_{ss}} \sum_{i=1}^m d_i \, \delta_{is} \right) \right] \\ = \left[ \xi_i \left\{ \left( T_2 - \frac{x^0_s}{1 + \delta_{ss}} \sum_{i=1}^m d_i \, \delta_{is} \right) \, \left( c_j - z_j^{(1)} + \frac{u_{sj}}{1 + \delta_{ss}} \sum_{i=1}^m c_i \, \delta_{is} \right) \right. \\ + \left( T_1 - \frac{x^0_s}{1 + \delta_{ss}} \sum_{i=1}^m c_i \, \delta_{is} \right) \, \left( d_j - z_j^{(2)} + \frac{u_{sj}}{1 + \delta_{ss}} \sum_{i=1}^m d_i \, \delta_{is} \right) \\ + 2 \, \left( T_1 - \frac{x^0_s}{1 + \delta_{ss}} \sum_{i=1}^m c_i \, \delta_{is} \right) \, \left( T_2 - \frac{x^0_s}{1 + \delta_{ss}} \sum_{i=1}^m d_i \, \delta_{is} \right) \right] \leq 0$$

In case (2.8) does not hold for all j = m + 1, m + 2, ..., n but basis is feasible we can obtain the optimal solution by using the technique [1] given by author.

If the solution is not feasible we may consider the modified problem whose optimal is the same as that of (2.1) through (2.3).

The modified problem is

Maximize 
$$\frac{(\sum_{j=1}^{n} c_{j} x_{j} + c_{s} \overline{x}_{s} + \alpha - M x_{s})^{2}}{(\sum_{j=1}^{n} d_{j} x_{j} + d_{s} \overline{x}_{s} + \beta)^{2}}$$
$$= \frac{1}{(\sum_{j=1}^{n} d_{j} x_{j} + d_{s} \overline{x}_{s} + \beta)^{2}}$$

subject to

 $P_{1} x_{1} + P_{2} x_{2} + ... + P_{s} x_{s} + \overline{P}_{s} \overline{x}_{s} + ... + P_{n} x_{n} = P_{0}$ 

$$x_{j} \ge 0$$
  $j = 1, 2, ..., n$ 

$$\bar{v}_{\rm s} \ge 0$$

M is sufficiently large positive number.

Now 
$$\tilde{P}_s = B\bar{B}, \bar{P}_s = \sum_{i=1}^m (\beta_i \bar{P}_s) P_i$$
.

Obviously B is a feasible basis of the modified problem and the optimal solution can be obtained.

Case (2). Again B is a feasible basis for the new problem but  $t_s$  will be affected, say it become  $\overline{t}_s$ . If all  $\overline{t}_s \leq 0$  then present basis is optimal. For  $t_s > 0$  we still solve the problem till the optimal solution is obtained.

# Change in the Coefficient Vector c of the Objective Function.

When we change the coefficient vector c of the objective function, the new objective function becomes

Maximize 
$$\overline{Z} = \frac{\left[\sum_{j=1}^{n} (c_j + \Delta c_j) x_j + \alpha\right]^2}{(\sum_{j=1}^{n} d_j x_j + \beta)^2}$$

The original optimal solution remains unaffected but it is not essential that it is optimal for the new problem. Of course  $z_j^{(2)} - d_j$  remains unchanged but  $z_j^{(1)} - c_j$  changes and

$$\begin{aligned} \overline{T}_{1} &= T_{1} + \sum_{j=1}^{m} \Delta c_{j} x^{0}_{j}; \qquad \overline{z}_{j}^{(1)} = \sum_{i=1}^{m} u_{ij} (c_{i} + \Delta c_{i}) \\ \therefore \overline{t}_{j} &= [T_{2} (c_{j} + \Delta c_{j} - \overline{z}_{j}^{(1)}) - \overline{T}_{1} (d_{j} - z_{j}^{(2)})] \\ [\xi_{j} \{T_{2} (c_{j} + \Delta c_{j} - \overline{z}_{j}^{(1)}) + \overline{T}_{1} (d_{j} - z_{j}^{(2)})\} + 2\overline{T}_{1} \overline{T}_{2}] \\ &= [T_{2} (c_{j} + \Delta c_{j} - \sum_{i=1}^{m} u_{ij} (c_{i} + \Delta c_{i})) - (T_{1} + \sum_{j=1}^{m} \Delta c_{j} x^{0}_{j}) (d_{j} - z_{j}^{(2)})] \\ \times [\xi_{j} \{T_{2} (c_{j} + \Delta c_{j} - \sum_{i=1}^{m} u_{ij} (c_{i} + \Delta c_{i})) + (T_{1} + \sum_{j=1}^{m} \Delta c_{j} x^{0}_{j}) (d_{j} - z_{j}^{(2)})\} \\ &+ 2 (T_{1} + \sum_{i=1}^{m} \Delta c_{j} x^{0}_{j}) T_{2}] \end{aligned}$$

If all  $7_j \leq 0$  (j = 1, 2, ..., n) then the original optimal solution is also optimal for the new problem. If there is some  $7_j$  is positive, we apply the technique [1] to this new problem to get optimal solution.

If the changes are made in the coefficients of the non-basic variables in the numerator of the objective function, then (2.9) reduces to

$$\begin{split} \mathcal{I}_{j} &= [\mathrm{T}_{2} \left( c_{j} + \Delta c_{j} - z_{j}^{(1)} \right) - \left( d_{j} - z_{j}^{(2)} \right) \mathrm{T}_{1} ] \\ &\times [\xi_{j} \left\{ \mathrm{T}_{2} \left( c_{j} + \Delta c_{j} - z_{j}^{(1)} \right) + \left( d_{j} - z_{j}^{(2)} \right) \mathrm{T}_{1} \right\} + 2 \mathrm{T}_{1} \mathrm{T}_{2} ] \\ &= t_{j} + \mathrm{T}_{2}^{2} \Delta c_{j} [\xi_{j} \left\{ \Delta c_{j} + 2 \left( c_{j} - z_{j}^{(1)} \right) \right\} + 2 \mathrm{T}_{1} ] \end{split}$$

This shows that if

$$\Delta c_{j} [\xi_{j} \{\Delta c_{j} + 2 (c_{j} - z_{j}^{(1)})\} + 2 T_{1}]$$

j = m + 1, m + 2, ..., n

are negative then original optimal remains optimal to the new problem as well. The change in vector d may be discussed in the same way as for change in vector c.

#### Acknowledgement.

I am grateful to Professor U.N. Singh for his inspiration for research and I am also thankful to my close friend Dr. Kanti Swarup, for useful suggestions.

#### REFERENCES

- [1] AGGARWAL, S.P.: « Quadratic Fractional Functionals Programming ». To appear. — in CERO.
- [2] AGGARWAL, S.P.: « Analyses of the Solution to a Linear Fractional Functionals Programming », Metrika, Vol.. 16, 1970.
- [3] BARNET, S.: « Stability of the Solution to a Linear Programming Problem », Oper. Res. Ort., Vol. 13, 1962.
- [4] COURTINILLOT, M.: « On Varying all the Parameters in a Linear Programming Problem and Sequential Solution of a Linear Programming Problem », Oper. Res., Vol. 10, 1962.
- [5] GARVIN, W.W.: «Introduction to Linear Programming», McGraw Hill Book Co., New York, 1960.
- [6] GASS, S.I. : « Linear Programming », McGraw Hill Book Co., New York, 1969.
- [7] HADLEY, G.: «Linear Programming», Addison Wesley, Reading Mass, 1963.
   [8] MADANSKY, A.: «Methods of Solution of Linear Program under Uncertainty»,
- Oper. Res., Vol. 10, No. 4, 1962.
- [9] SAATY, T.L.: « Coefficient Perturbation of a Constrained Extremum », Oper. Res., Vol. 7, 1959.
- [10] SHETTY, C.M.: « Solving Linear Programming Problems with Variable Parameters », Journal of Industrial Engineering, Vol. 10, No. 6, 1959.
- [11] SWARUP, K.: « On Varying all the Parameters in a Linear Fractional Functionals Programming », Metrika, Vol. 16, 1970.
- [12] WAGNER, H.M.: « On the Distribution of Solutions in Linear Programming Problems », Journal of the American Statistical Association, Vol. 53, 1958.